PHONG GD& BT HA LONG BE KIEM TRA HOC KY 2 - NAM HOC 2020-2021
TRUONG THCS LY TU TRONG Mon : Tiéng Anh Lép 9 (H¢ 7 nim) - PELE
Thoi gian 1am bai: 45 phat (khong ké thoi gian phat dé)

Ghi cht : - Hoc sinh khong chép lai dé ma chi viét s6 cau héi va ndi dung tra 1oi vao to gidy kiém tra.
- Dé kiém tra nay co 2 trang.

Question 1: Listen then fill in the missing words: (0,8p)

1. Our oceans are polluted. Most of this comes from people.
2. Raw sewage pumped into the sea.

3. Ships drop 6 million tons of into the sea each year.

4. There are oil spills ships.

Question 2: Listen and decide whether the sentences are True (T) or False (F): (0,8p)
5. Remember to place heavy books on the bottom of the bookshelves.

6. Put hanging potted plants in pottery containers.

7. You should put your bed next to a window.

8. When earthquakes happen you should stay inside.

Question 3:A-Which word in each line has the underlined part pronounced differently.(0,4p)

9. A. warned B. helped C. washed D. liked
10. A. highland B. tidal C. littering D. priority
B. Choose the word that has a different stress pattern from the others.(0,4p)
11. A. replace B. standard C. receive D. suggest
12. A. joyful B. sticky C. abrupt D. garbage
Question 4: Choose the best word or phrases to complete the sentences: (1,2p)
13. I suggest ....... public transport instead of motorbikes.
A. using B. use C.touse
14. Can you turn ..... the light ? It’s too dark here.
A. off B. down C.on
15. I enjoy reading the books ...... tell about different cultures.
A. who B. which C. what
16. ........ it was raining, he went out without a raining coat.
A. However B. Because C. Although
17. If the rice paddies are polluted, rice plants ......
A. will die B. would die C. die
18. Geta ...... to make sure there are no cracks in the pipes.
A. doctor B. plumber C. worker

Question 5: Choose the underlined word or phrase (A, B, C, D) that needs correcting (0,6p)
19. The path was made by walkers which crossed the mountain each year.
A B C D

20. You’re tired because you stayed up too late watch TV last night.

A B C D
21. People should use energy- saving bulbs saving electricity.

A B C D
Question 6: Put each word in capital letters into the correct form in each sentence below (0,6p)
22. Let me congratulate you on your as chairman. (NOMINATE)
23. People must learn about keeping the environment (POLLUTE)
24. He wants to his room. (DECORATION)




Question 7: Read the text and answer the questions (0,8p)

In Western countries, electricity, gas, and water are not luxuries but necessities.
Companies now realize that consumers want products that will not only work effectively, but
also save money.

For most North American households, lighting accounts for 10 percent to 15 percent of
the electricity bill. However, this amount can be reduced by replacing an ordinary 100- watt
light bulb with an energy- saving bulb. These bulbs use a quarter of the electricity of
standard bulbs and last eight times longer. Therefore consumers can save about US$ 7 to
US$ 21 per bulb.

25. Are gas, electricity and water necessities in Western countries?

26. What products do consumers want?

27. Does an energy saving bulb last longer or shorter than an ordinary?
28. What can we do to spend less on lighting?

Question 8: Choose A,B,C or D to complete this passage. (0,8p)

Tornadoes are funnel-shaped storms which (29) _ overland below a thunderstorm.
They can suck up anything that is in their path.
When a tropical storm (30) 120 kilometers per hour, it is called a (31)
in North and South America, a cyclone in Australia and a typhoon in Asia.The word
“typhoon” comes (32) Chinese: tai means “big” and feng means “wind”, so the
word “typhoon” means “big wind”.
29. A. pass B. cross C. through D. travel
30. A. watches B. reaches C. misses D. dresses
31. A. tornado B. cyclone C. hurricane D. typhoon
32.A. to B. from C. about D. over

Question 9: Write the second sentence so that it has the same meaning to the first. (0,8p)
33. In spite of the bad weather, they had a picnic.
- Although
34. She could not write because of her broken arm.
- Because her
35. Shall we take a bus instead of a taxi?
- | suggest
36. Unless he takes these pills, he won’t be better.
- If he

Question 10: Combine each pair of these sentences using suggested words in brackets (0,8p)
37. A girl is now in hospital. She was injured in the accident. ( who)

38. Our teacher didn’t arrive late. The traffic was terrible. (although)

39. The black car is very expensive. Mr Nam has just bought it. (which)

40. Nga is hungry. She hasn’t eaten all day. (because)

* SPEAKING: (2,0p)
---THE END---
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TRUONG THCS LY TU TRONG M6n : Tiéng Anh Lép 9 (Hé 7 nim) — PE CHAN
Thaoi gian 1am bai: 45 phit (khdng ké thoi gian phdt dé)
Ghi chd : - Hoc sinh khong chép lai dé ma chi viét s6 cau héi va ngi dung tra loi vao to gidy kiém tra.
- Dé kiém tra nay co 2 trang.

Question 1: Listen then fill in the missing words: (0,8p)

1. Our oceans are polluted. Most of this comes from people.
2. Raw sewage pumped into the sea.

3. Ships drop 6 million tons of into the sea each year.

4. There are oil spills ships.

Question 2: Listen and decide whether the sentences are True (T) or False (F): (0,8p)
5. Remember to place heavy books on the bottom of the bookshelves.

6. Put hanging potted plants in pottery containers.

7. You should put your bed next to a window.

8. When earthquakes happen you should stay inside.

Question 3:A-Which word in each line has the underlined part pronounced differently.(0,4p)

9. A. celebrated B. installed C. spoiled D. destroyed
10. A. dynamite B. festival C. pesticide D. environment
B. Choose the word that has a different stress pattern from the others.(0,4p)

11. A. faucet B. household C. conserve D. label
12. A. garbage B. appliance C. expect D. pollution

Question 4: Choose the best word or phrases to complete the sentences: (1,2p)
13. They suggest ....... by bicycle or public transport.

A. to travel B. travel C. traveling
14. Peter is looking ....... his hat everywhere. Have you seen it?
A.up B. for C.at
15. What is the name of the man ....... gave us these books?
A. who B. where C. which
16. Ifhe ....... a student, he will get a discount.
A.is B. was C. will be
17. According to the weather ......... , Hue will be sunny tomorrow
A. radio B. forecast C. station
18. We lost the match ........ we played well.
A. although B. because C. therefore

Question 5:Choose the underlined word or phrase (A, B, C,D) that needs correcting (0,6p)
19. We are really enjoying the TV set that we bought it last week.

A B C D
20. If we go on littering, the environment won’t become seriously polluted.
A B C D
21. The new stadium who can hold 90,000 people will be opened next month.
A B C D
Question 6: Put each word in capital letters into the correct form in each sentence below (0,6p)
22. He is a famous (SCIENCE)
23. I hope you’ll join in the Christmas (CELEBRATE)

24.1t’s very to live in a damp room. (HEALTH)



Question 7: Read the text and answer the questions (0,8p)

Although there are many celebrations throughout the year. Tet or the Lunar New Year
holiday is the most important celebration for Vietnamese people.Tet is a festival which
occurs in late January or early February. It is a time for families to clean and decorate their
homes, and enjoy special food such as sticky rice cakes. Family members who live apart try
to be together at Tet.

25. Are there many celebrations throughout the year in Vietnam?
26. Which celebration is the most important for Vietnamese people?
27. When does Tet occur?

28. What do people do before Tet holiday?

Question 8: Choose A,B,C or D to complete this passage. (0,8p)
You ask me what | think about my dad. Great! Great! | must tell you my dad is the

(29) __ person in the world. Do you know what | mean? He is a considerate and (30)
man who is loved not only by his family but also by all his friends. His (31) IS
always his family. His sense of humor distinguishes him from others. In a word, my dad’s
terrific! I’'m so (32) of him and love him so much. Happy Father’s Day, Daddy!

29. A. good B. best C. better D. lovely

30. A. beauty B. friend C. generous D. humor

31. A. character B. hobby C. appearance D. priority

32. A. proud B. from C. pride D. over

Question 9: Write the second sentence so that it has the same meaning to the first. (0,8p)
33. If it doesn’t rain, there will be a shortage of water.
- Unless
34. Despite being so young, he performs excellently.
- Although he
35. “Why don’t you complain to the company, Peter?” said Mary.
- Mary suggested that
36. She could not write because of her broken arm.
- Because her

Question 10:Combine each pair of these sentences using suggested words in brackets(0,8p)
37. The student gets the first prize. He is very poor. (who)

38. He often tells lies. Many people believe him. (though)

39.These are the pictures. Lan drew them last week . ( which )

40. We had no food at home. We decided to go out for a meal. (because)

* SPEAKING: (2,0p)

---THE END---



TRUONG THCS LY TU TRONG
DAP AN BIEU BPIEM CHAM KIEM TRA HOC Ki II TIENG ANH - LOP 9
Nam hoc 2020-2021

Listening: Q1: Unit 6 - Listen
Q2: Unit 9 -Listen

DE CHAN
Question 1 1. pollution 2. directly 3. garbage 4. from
Question 2 5T 6. F 7.F 8.T
Question 3 9.A 10. B 11.C 12.A
Question 4 13.C 14.B 15. A 16.A 17.B 18.A
Question 5 19.C 20.B 21.A
Question 6 22. scientist 23. celebration 24. unhealthy
25.Yes, there are.
Question 7 26. Tet or The Lunar New Year.
27. It occurs in late January or early February.
28. They clean and decorate their homes, make special food such as
sticky rice cakes.
Question 8 29.B 30.C 31.D 32. A
Question 9 33. Unless it rains, there will be a shortage of water.
34. Although he is so young, he performs excellently.
35. Mary suggested that Peter should complain to the company.
36. Because her arm was broken, she could not write.
Question 10 37. The student who is very poor gets the first prize.
38. Though he often tells lies, many people believe him.
39. These are the pictures which Lan drew last week.
40. Because we had no food at home, we decided to go out for a meal.

- (0,2p for each right answer) - Total : 8,0 points
- Speaking: 2,0 points



DE LE

Question 1 1. pollution 2. directly 3. garbage 4. from
Question 2 5T 6. F 7.F 8. T
Question 3 9. A 10. C 11.B 12.C
Question 4 13. A 14.C 15.B 16.C 17. A 18.B
Question 5 19.B 20.D 21.D
Question 6 22. nomination 23. unpolluted 24. decorate
25. Yes, they are.
Question 7 26. Consumers / they want products that will not only work
effectively, but also save money.
27. 1t lasts longer.
28. We can replace ordinary 100- watt light bulbs with
energy- saving bulbs.
Question 8 29.A 30.B 31.C 32.B
Question 9 33. Although the weather was bad, they had a picnic.
34. Because her arm was broken, she could not write.
35. | suggest taking a bus instead of a taxi.
36. If he doesn’t take these pills, he won’t be better.
37. The girl who was injured in the accident is now in hospital.
Question 10 38. Although the traffic was terrible, our teacher didn’t arrive late.

39. The black car which Mr Nam has just bought is very
expensive.
40. Nga is hungry because she hasn’t eaten all day.

- (0,2p for each right answer) - Total : 8,0 points
- Speaking: 2,0 points




THE SECOND SEMESTER TEST MATRIX - GRADE 9- 7 YEARS (2020-2021)

LEVEL OF DIFFFICULTIES -BLOOM

THEMES TAXONOMY _
Knowledge Comprehension L.OW . H_|gh . Total
Application Application
LISTENING 1
Listen - Gap fill | Listen - Gap fill
No of Qs 2 2 4
Marks 2x0,2=04 2x02=04 0,8
Rate 4% 4% 8%
LISTENING 2 | Listen & write | Listen & write
TorF TorF
No of Qs 2 2 4
Marks 2x0,2=04 2x02=04 0,8
Rate 4% 4% 8%
PHONETICS MCQ
-Sounds: /i/,
ended /ed/
- Stress
No of Qs 4 4
Marks 4x0,2=0,8 0,8
Rate 8% 8%
LANGUAGE
FOCUS MCQ MCQ MCQ
-Preposition
-Suggestion
-Vocabulary
- Phrasal verb
- Connectives
- Con sentences
No of Qs 2 2 2 6
Marks 2x02=04 2x0,2=0,4 2x0,2=0,4 1,2
Rate 4% 4% 4% 12%
IDENTIFYING
MISTAKES
No of Qs 3 3
Marks 3x0,2=0,6 0,6
Rate 6% 6%
WORD FORM
Noun , verb,
adjective
No of Qs 3 3
Marks 3x0,2=0,6 0,6
Rate 6% 6%
Answer the Answer the Answer the
READING 1 questions questions questions
No of Qs 1 1 2 4
Marks 1x02=0,2 1x02=0,2 2x0,2=0,4 0,8
Rate 2% 2% 4% 8%




READING 2 Read - MCQ Read - MCQ Read - MCQ
No of Qs 1 2 1 4
Marks 1x0,2=0,2 2x0,2=04 1x0,2=0,2 0,8
Rate 2% 4% 2% 8%
Sentences Sentences
WRITING 1 transformation | transformation
No of Qs 1 3 4
Marks 1x0,2=0,2 3x0,2=0,6 0,8
Rate 2% 6% 8%
Sentences Sentences
WRITING 2 combination combination
No of Qs 2 2 4
Marks 2x02=04 2x02=04 0,8
Rate 4% 4% 8%
3x0,2=0,6 2x05=1,0 2x02=04 7
SPEAKING 6% 10% 4% 2,0
20%
Total: 15 17 10 5 47
Mark 3,0 4,0 2,0 1,0 10
Rate 30% 40% 20% 10% 100
%
Duyét BGH Ngudi ra dé
Ngay 19/4/2021
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